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FHATITE TG JIAHGHIN, GEha-d AGHIn= |

55T dd 7 &1, J& T4 T & I GeHd 7 & g |

Answer all questions in Sanskrit, unless instructions are given
otherwise.

ST Fo797 TN GUST: Tl |

39 J97-97 § AR @S 3 |

There are four sections in this question paper.

Qs & ST — SFaaiey (3Tafsary — raaier) 15 3T

SECTION A (Unseen Reading Comprehension)

T ug: @ &R THTCHHTEY (TEhd H THHICHS TE&H) 15 3T
SECTION B (Writing Skills in Sanskrit)
Que: T gfedre — STaEIgs TRhadleere Ii=d: =

(4fSAmRr — Y Ud HEehd Hiiged 1 GR=F)  40+10=50 3HET:

SECTION C (Reading Comprehension and Introduction
to History of Sanskrit Literature)
guE: b FRISATN: (Tg T FAFR) 20 3TET:

SECTION D (Metres and Figures of Speech)
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@vus: < (SECTION A)

AUTSATIT — TSI
Irafeais — sraae

Unseen Reading Comprehension

AT ST IfSca TEAITATH IV HEehaA for@d |

frfafea sTg=sg 1 Teeht fu U woi o W T&hd § fofew |

Read the following passage and answer the given questions in Sanskrit.

94T

(3)

15 3T

5

g feeeliudy aguqyUe wWE WATERl AT | dTEAEl 4Gy,
FIHTSIAATT, JGIUH, W%awmﬁwﬁaﬁ|
EIRECAMEL I ER T 1 Ml 1 R D C B | £ SO I F=5 LS L e | I E DI Gl
Wad_ | S ASIeRaTEA ST e e | JERIUA A TG
=fvafd | g&m: SadgEe a1g TS | 31d: S4: ARy R 9ed 31
FEARIYUT Shefedq | HehR: AU AT fowd wdfen 3era: a1 |

TehUCH ITd | (Shadl T9gIH)

Teh Ieg | 3T AT | (heet 31 T9)

Answer in one word. (Only two questions)
()  &Ff STgYGYUR SHE higel ST ?
(1) ST S BRﬁ"TI'QEﬁ?HT%HT HAeAT: ?
(ili) G0 Y =fwafa ?

QUTETRA 3T | (had TREgEH)

9ot g # IR G | (e g )

Answer in a complete sentence. (Only two questions)
(1)  STIIGYURE HROMH I o= ?

(i) IYIGIE HI=E 3 : ?

(i) g&m: foh F=ai ?

FATHCRH, ITA | (had TgaH)

JATHEY I T | (had & TH)

Answer as directed. (Only two questions)

(i) ‘TE=si 3id hamee sque e ?

(i) ‘Ao’ 3fd U foh EmMIIHRy o TYFH ?
(iil) ‘“WaTaET i fommore fovrsy fory 2
3

—x2=1

Ix2=2

Ix2=2

P.T.O.
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ALITARGTH, 3T=08 TiScal TGATTAHH, ITTVT F=hA for@d |
FfcTiad 3T=eg ! Igeht fSU 7T JeAi o I H&ehd H faIRaT |

Read the following passage and answer the given questions in Sanskrit. 10

Yehlel qrEvT Sl SE | aft e e gfiee uivd sEa:
TET: ATEA | dY Th: g AhedagR QT o1, o1d: & gfafg: TR e
M | a& giawrn: qiteroned gfieh: TE) TS g 3TEgd— A I
gy AW | | qen: Nemeeq ok 9 - 3 e v | e
SME: | g @ RGE aTfese: —W:Tﬁﬁwm | 9. 9. dHIm:
NemmIq e 9- 39 et fe 9 e T | agqa: a9 aoft 9gqa
a9 7 i wafwq, o= aroft semelt wafd, e 9d ST &< Wi |
gfeh: TET ITRUT JEH: Il § GEAHTETd Joraq 3Thid |
OI4T:
(37) URUCH ITA | (Shadd TgIH)

T T H I AT | (et & )

Answer in one word. (Only two questions) 1x2=2
(i)  qdehret o1 Jaferar STeEq ?
(i) oh: ArheIFER fgur: mEfq 2
(iii) @fheT qT9d o ATEH ?
(|) YuEmRH I | (had TegIH)
EUCIER RIS IS LN CE SRS )

Answer in a complete sentence. (Only two questions) 2x2=4

() & gd T waf=d 2
(i)  afeh: J&=: Year T 3TRTA ?

(i) aed gffg: TR formel ygar ey 2

(|) Iy IRA | (had I¥IgIH)
T I T | (SFaed g IH)

Answer as directed. (Only two questions) 1x2=2
() ‘oTRUq 3id fspamaeed shue form 2
(i) ‘=&’ 3fd uew foh facimdey o ygady ?
(i) FgW 3fq oo forrs form 2
(3) AT=oewme dyfad v Thdd forad |
39 AT=0G & TT¢ Iuh ek T&apd # fafaw |

Write a suitable title for this passage in Sanskrit. 2x1=2

4
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@vs: @ (SECTION B)
TR AT G
HEHA T TATHS @
Writing Skills in Sanskrit 15 37I:

rgifaRgart arenfa seffadsha g1 fa=mea |
frefetfaa arern 1 Sty & S8R gH: fafaw |

Rewrite the following sentences according to the story. Ix5=5
(i)  HfdhR: IEUETS YA SMWH €99 3T |

(i)  Yfder: Tae wiarfyes e |

(iii)  UEhaT Teh: Hfdeh: ST |

(iv) S: 91 q{d: <aTer TIfar, ITEAT & STRET |

(v) & U JINUMEUSH 3T99q |

HoS[uTT YEOUGHT Tl 6 91 Usaid: GEhdar: HHEG gHy Adifdarad
forw=rm sAfeepe avfF $ea |

Toqw § feu T ugi < wEmar @ A1 w3 efafad At e foww @ we

qT<l {Eehd A1 H U I |

Write five sentences in Sanskrit with the help of the words given in the

box or yourself on any one topic given below. Ix5=5

o= - fereman: wgwy

T

ar, faen, g9y, vafd, s7y:, 9G8R, Sie1, T=, U, IEIEET:, A&,

I, 3fed, fogM |

HAAT

fowa: - St
HSIHT

AT, IcaaM, Wafd, hifdehHed, ¢uT:, SeheM, 1Y, Fer, i,

JaehT:, AEH, Faf, fisemm, amaf~<, JHmwd, gcagasy |

5 P.T.O.



FNTARIIATRITT FEhaA TS e |
frfcTiad aTerIl o1 §%hd H STATE SHiTT |
Translate the following sentences into Sanskrit. Ix5=5

() W gfdafed foene™ ST g |

(i) T M Sl 9O H AT B |

i)  Afer garl dimmeTt i & Hd # |
(iv) 98 HIgd ol T <l 2 |

(v) BH 99 WRAE 3§ |

1) Ram goes to school everyday.

(ii1) Ramesh goes to the garden in the evening.
(iii)  Soldiers protect our borders.

(iv)  He gives book to Mohan.

(v)  We all are Indians.

@use: T (SECTION C)
TSATIT — AT TR geaed Uied: =
UfSATYT — AT TS TEha AT T UHa™
Reading Comprehension and Introduction
to History of Sanskrit Literature 40+10=50 37gT:

FYIfIRad T IfScan TEETRaH JeH HEehdd 3aLd |

ffafiad Tere 1 ggRt 3T W LG T o T TERa ° T |
Read the following prose passage and answer the given questions in
Sanskrit. 5

=TI

TSI Tehel WHARIE=adq, — 3181 STHRIST TR, el Hed fob Wiaerdifa
T I | 39 foemel wasaciyn a9 wyquskaar | da: Mifculidia whe
HUSY: HING: | GEiY IFErl SHEAT | qagrrUedaHgeave SHIEd: |
qferaaat  agreHTe  hivageman: FHgdR SNd: | disf g e
TrgsITieNE IR fagmmseta “or wgg | fashament T o5 SUfd | oF Afvdisy
caTATETd {ETG: |7 $fd STomed JsIreatl godl &9 fedrm: |

6



49

AT
(37) TUHUCH ITA | (hadd TgIH)

T Weg H IR AT | (had & )

Answer in one word. (Only two questions)
(i) 3 HER: shiga: Afed ?
(ii) : I HUM ?
(iii) : HHGANH 3TT=Dq ?
(F) quiaTeRH ITRA | (hadt TeTHRH)

qul 9T | 3T I | (Shadt Teh W)
Answer in a complete sentence. (Only one question)

G) fufeufs: s swif@: 2
(i) ¥ % HHIEQ: ?

(|) Iy IR | (had I¥IgIH)
TSI I N | (Shadd & )

Answer as directed. (Only two questions)

() ‘orsErq 3fa fohamiee wqug foq 2

(i) Sty sfa ygea b Uy 3 ey ?
(iii) | 3fq FETHIG FE TFH ?

FYIfIRad Tl dfdcal TEaTRae, YoM & 3aid |

frfaRad 7@ &l dgt 38 W LR Te1 o I T&hd H T |
Read the following poetry and answer the given questions in Sanskrit.
LB

SHAMT 7 I 89 g 7 Frgleaa:,

T =M A fodd 7 g Aehd gost: |

IV THARUTT J& AT TEha O,

R @] Yo Fad arNe gyue ||

TehUeH ITA | (Shadl IegIH)
T T H I AT | (It & )

Answer in one word. (Only two questions)

(i) I go¥ T Y= ?

(i) I gad effea 2

(iii) Toh TN JETET T WAl ?
7

AT
(39)

Ivo=1

2x1=2

Ix2=2

5

—x2=1

P.T.O.
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C)

qUiETeRH 3T | (hadl TeTHHH)
qul ST | I I | (Shadt Teh T9)

Answer in a complete sentence. (Only one question)
(i)  <higeft aToft gey FHeRTd ?

(i) higRm: BT GY F YA ?

TG 3T | (had TeHgIH)

T I R | (e o )

Answer as directed. (Only two questions)
() ‘eHeRUfd 3id R Squg o ?
(i) AU 3fd TG HEH Y ?

(i) ‘G 3f UeE Toh forTmugHS SgeH ?

FYIfIRad T gfScan TEaTiaH, YoM HEhd- 3aid |

frfaRaad Areams Sl dgeht 38 W MYTRA TeH1 o I §&hd H T |

2x1=2

Ix2=2

Read the following drama passage and answer the given questions in
Sanskrit.

TSI

<

HIVTT . SRCRIHEITATNGY qiydT 99 9 |

qETTCAIS=Ial ScaT Y&z qrad o= ey |

el JAASEA gEATTER: ¥ F9a: ®Y gRAd ?
(srferear)

F2q: ;. TIq FEREAEGREAT |

Ch ;. GRHATA F | TAHREHUHRISTHE: |

g

(3)

ThHUS A | (Shadl I¥gTH)

T Feg H IR AR | (Faat gt T)

Answer in one word. (Only two questions)

()  INTIHEUAN: o divdn: i 2
(i) hHIAT & YAt afoaar 59 ?
(iii) FHAN: foh T9g ?

Ivo=1



(|) qolaTeRH ITRA | (Shadt JeHRH)
qul ST | I I | (Shadt Teh T9)

Answer in a complete sentence. (Only one question) 2x1=2

(i)  ofed: gy e ?
(i) E: HY gATGR: ?

(|)  FTfcym I | (had I3gIH)
T I AT | (haet g T9)
Answer as directed. (Only two questions) 1x2=2
() ‘o’ sfd uew fh foeimuey o= gy ?

(i) | 3fd FEMIE HE TIF ?

(iii) ‘=ead:’ 3fd uee foh TumTdHy o1 YYEH ?

g Ffard: e sheal fof@d | (ShuTis=rd, 9Igur™)
STeql ST TYfea 31t & e s farfge | (1 9m)

Match the words with their meanings and rewrite the same. ,
(Any four) —x4=2
2

ITsaT: 1o
(1) TS (i) I
(@) o (i) foregam
(|) fomwrem (i) =
(®) @red (v) 3@
(@) e, (v) W
@ Ee (vi)  HHTH

9 P.T.O.
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srenfafady arRy WeTfgauer™ ey yeafmiv $ea | (FyFd oqy)
FreafaRaa s o Taifera ugi & 2mur W yga-fmior hifse | (15 =)

Frame questions on the basis of the underlined words in the following
sentences. (Any four) I1x4=4

() gt 9 fe s |

(i)  gfoea: geaven: af= |

(i)  HITAGTERIT HHTCATH T Waf=d |
(iv) TS Wi shisssh fefH: 1vem |

(v) Tifeaa fora firg: waieenrfey |

(vi) TS a9 UM |

srenferfaaqurandy e yfd TeuTaeTsR $ed | (FAfTag o)

frefefga wremel § wesn 4 fou 7w wedl <l wEwR@r ¥ e T Hoqfd
I | (1S 77)

Fill in the blanks in the following explanations with the help of the words

as given in the box. (Any two) 3x2=6

(31)  “foren =nferRn = TEGGIHI H 7 |
stferern geg dieat foernsgansgd 117

wrarel:

e gogarh a9e g fa9 weaa: — faen = () T | I 5 :

3IVl: ToRril: W& Hed SR (ii) | §: AT TR

Herd: T 3= (iii) 3THdcaH, ST |

10
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(&) “erdta fg dffgaferman SHewe: |

: o d C coN 2
ATPTTGHANY HIRI~<hgHaH ||

wraTe:

figreuT Iufeurtad — TG FoRie STfd wad () ESUIRIIE
Td | SHeIGd: 4T AN (i) ATV heal T Ffg Teqa—: |
T2 (iii) eIty qeify o Y g A AT |

(@) srfea FEfy wen R fe-afsay |

. .~
Hd 9 HUAH HEE HEE &A1 111

e
REIEE:CENE)) v genfid safa qenfy i) 2Ed had
TSR Wd | 999 TSEHT (1) had ETd: T WA |

HSSIST
IR, eToSid, hHet:, Jferar, Huier, g7y, fomm=ams,

Alehoddaliy, U\ﬂé%‘l(“’«l |

ATANG-3F e+ T@d | (had TeehH)

frefafaa veirent & st & s Tomei 1 gfd il | (Faet Teh)

Fill in the blanks in the following prose-order-renderings of the verse.
(Only one) 1x3=3

(31) “qamedl ANEEAA g

71 Fmishaege ¥ |

STCATTAT TEGUCHHT =

yTedisfa wearatg s 117
A
IEd: d@ A () IgH H W A ga | I
(ii) AT A1 ATCHAT, U APITERGE. (dii) T
3ty |

11 P.T.O.
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¥ @ TR Aigd AER JEvEgeisiHiar=mR |

femagrEfl digug—mand anafig cedm ||

A

| & R W wld () o =qd: A wa fenfr srEi
gy (i) , 378 I19d e (iii) Iq |

ey I |
Femfeer I T |

Answer as directed. 10

(3)

U fshamae = f=ga | (had gaH)

hdt Td fshamag g | (Shaat )

Select the subject and the verb. (Only two) I1x2=2
(i) 318 Ffeaaarn s = fvaremg=y |

(ii) AR AT A I8 T=vSaHT ST |

(iii) Toheg: wed wfae wd fommemfa |

foriwor forss 9 foqa | (Shaw gIm)

fereor 3 forsy wg T | (Faa @)

Select the adjective and special word. (Only two) I1x2=2
(1) mwam Sfram: 7 faemd |

(i) TS TAT TR SAGEN: Yei¥id: T |

(iii) Y% I&qd: Ua 7gya Ffdanfea |

AITARGAATRY (@A ¥: JIHIH ? (hadd gIq)
ffafed s § W@ifed Ha™ 98 foheh ot T 3T & ? (e Q)

In the following lines for whom are the underlined pronouns
used ? (Only two) Ix2=2

(i) & gfmTE gemice® TadaTe 31yt Wi hid Isafd 9 |
(i) 9 gHY 3¢ TH Y9 |
(i) HYg: STEUEH T q9 T 3feqq |

12
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(2)

%: % AT ? (had gIH)

1 forue! %% @1 2 ? (F9 )

Who is saying this to whom ? (Only two) 1x2=2
(i) Y9I ISR SHsht THTTA: |

(i) UM | Tl g, qeifted 2 et |

(iii) TS T T TeAG@HEITHgT Hafd, geaa: foratonfadizg |

A U fodd | (e gam)
U 9g T | (Fad Q)

Select the synonyms of the given words. (Only two) I1x2=2
@) &
‘It FEafasperadiaT wgrTean: |
(i) qUSH
‘o18 Tt wehTTE SSHTMIEE SRTEE Tfadisyey |
(i) &:

‘ored Tty e vt |

o 0

AN ARTAAG ST HETY TR hledey I for@d |
Frafaga @t & feret R w1e 1 7w fafEw |

Write the names of any one work of each of the following poets. 1x5=5

HIfIGH:, TRIRTRIE:, AYUATY M, ot Te-g™:, Wiah: |

AN ARG S@ehHET T forgd | (Shaed ds=m )

et TaATetl o ci@ehl o a1 fafEue | (haat df=)

Write the names of the authors of the following works. (Only five) Ix5=5
IaERad, ey, Revsfos:, qgyrad, fhuaiem,
Tffaem:, Jera-aesi |

13 P.T.O.
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@vus: ¥ (SECTION D)
BRISAGRI:
Metres and Figures of Speech

M 3T | (haed gIH)
I % I M | (had af)
Answer the questions. (Only two)

(i) faem’ o & sfa @y T A1 ?
(i) I €Y @ |
(iii) ‘@i sco I TT: ?
ATARGITATIT: TG | (el =a: )

fferfiga aftmrest =1 quf i | (e =)
Complete the following definitions. (Only four)

i) __ wfcrd Wifiereh: |

(i) IR TG AERITISITAE: |
(iii) 3THT TE=TCCAhI T |

(iv) & wgfese Rrafoft |

(v) HA: RMGATTSHITSTH, |

seifaRgadfey foh foh T: ? (haal gam)
Frefafaa ufeaa & sH-H9-91 B¢ 8 ? (had )
What is the metre in the following lines ? (Only two)

(i) &1 9l fom: 9 g gl quargyTaserE |
(i) AT F 7 TgTd G hret |

(i) Toriva: Tdfae wam faymor d9afogam |
Tehed Brad: 3QE fored |

foret teR B¢ 1 e fafEn |

Write an example of any one of the metres.
3TICY, HaTehT=dT, JRE |

14

20 3HsT:

Ix2=2

Ix4=4

Ix2=2



16.

49

F IR VRIS il e forad |
Tereht weR TrsgToTER 1 ATt wterur fafaw |

Write the definition and example of any one of the figure of speech

(FTeTeTER). 3
IITE:, JHHY_ |

FEAIHET AL AR = fored |

Teret ueR Sr1erTegR 1 @ietur wa Ierewor foifgu |
Define and illustrate any one of the figure of speech (ﬁﬂi("lﬁ'l(). 3

TR, AAATE:

srenfafaaqufey & TeIgr: ? (had gaH)

Frafefaa afwat @ ®H-8 3cgr § 2 (had @)

Indicate the figure of speech in the following lines. (Only two) 1x2=2
(i)  STHEHTA Al HeHTe qeasvfie JTged |

(i) Tl fowa=: af< o= fama: |

(i) MHSTAftE Tt~ fagaray |

FGIARGAIRATT: T | (haed 5IH)

frefefiaa aftamstt =1 qui i | (ke <)

Complete the following definitions of the figures of speech.

(Only two) 1x2=2
6) AR T 394 |
(i)  WecHWTETCI |
(iii) WA= |

15



